

Page: 1 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00025759	11-03-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	lu

Supplier: 0000003228 World Wide Technology LLC 60 Weldon Pkwy St Louis MO 63043 United States This is not a valid
Purchase Order.
This document is
reproduced for reporting
purposes only.

Ship To:

Attention: Chad Joyce

Bill To: UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste.

4200

Denton TX 76205 United States

Tax Exem	unt?	Tax Exempt ID:			Ponlonishmont	Option: Standard	
Line- Sch	Item/Description	Mfg ID	Quantity	UOI		Extended Amt	Due Date
1 - 1	QUOTE 7555657.6 - Juniper EX4100-24P Ethernet Switch		1.00	EA	2089.04	2089.04	11/13/2025
					Schedule Total	2089.04	
2 - 1	5 Year Wired Assurance & Virtual Network Assistant (VNA subscription fo EX-24 port switches including JTAC Support. Includes Juniper Care Core support for EX2300/EX3400/EX4000 EX4100- F/EX4100H/EX4100/EX4 00 24-port switches. INCL J-CARE CORE FOR EX23	/ 4	1.00	EA	978.46	978.46	11/13/2025
					Schedule Total	978.46	
3 - 1	Juniper Standard Power Cord POWER COR AC US/CANADA	D	2.00	EA	25.06	50.12	11/13/2025
					Schedule Total	50.12	
4 - 1	Juniper Redundant Power Supply AIRFLOW PWR CORD ORDERED SEPARATELY		2.00	EA	527.74	1055.48	11/13/2025
					Schedule Total	1055.48	



Page: 2 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00025759	11-03-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	lu

Supplier: 0000003228 World Wide Technology LLC 60 Weldon Pkwy St Louis MO 63043 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Chad Joyce Bill 1

Bill To: UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste.

4200

Denton TX 76205 United States

Tax Exen Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UO		Option: Standard Extended Amt	Due Date
5 - 1	Juniper EX4100-48P Ethernet Switch 4X100 SFP+ UPLINK PORTS 4X25G SFP28	G	1.00	EA	3334.01	3334.01	11/13/2025
					Schedule Total	3334.01	
			1 00		1005 64		11 /12 /0005
6 - 1	5 Year Wired Assurance and Virtual Network Assistant (VNA) Subscription for EX48 port switches including JTAC Support; Junipe: CareCore Support for EX2300, EX4100-F, EX3400, EX4000, EX4100, EX4300, EX4400 24 ports switches. INCL J-CAR! CORE FOR EX23 3443	r	1.00	EA	1396.64	1396.64	11/13/2025
					Schedule Total	1396.64	
7 - 1	Juniper Twinax Coppe: Cable ATTACH COPPER TWINAX COPPER CABLE	c	2.00	EA	34.50	69.00	11/13/2025
					Schedule Total	69.00	
8 - 1	Juniper SFP 25GBase Direct Attach Copper Cable 1-meter, Passive ATTACH COPPE CABLE	₹	2.00	EA	49.30	98.60	11/13/2025
					Schedule Total	98.60	



Page: 3 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00025759	11-03-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	-
	Gabriel.	
	Morales@untsystem.ed	lu

Supplier: 0000003228 World Wide Technology LLC 60 Weldon Pkwy St Louis MO 63043 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Chad Joyce

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu

1112 Dallas Dr., Ste. 4200

Denton TX 76205 United States

Tax Exen Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UO		Option: Standard Extended Amt	Due Date
9 - 1	Fortinet Rack Mount Tray EF SERIES DT AI W/ SP-RACKTRAY-01	ND	2.00	EA	153.53	307.06	11/13/2025
					Schedule Total	307.06	
10 - 1	FortiGate-71G 10 x 0 RJ45 ports (includin 7 x Internal Ports, x WAN Ports, 1 x DM: Port). 64GB SSD storage. PORTS (INCLUDING 7 X	ng 2	2.00	EA	677.60	1355.20	11/13/2025
	INTERNAL PORTS				Schedule Total	1355.20	
11 - 1	FORTIGATE-71G 5YR ADVANCED THREAT PROTECTION (IPS ADVANCED MAL		2.00	EA	1511.90	3023.80	11/13/2025
					Schedule Total	3023.80	
12 - 1	APC Smart-UPS X 2000VA Rack/TW LCD 100-127V with Netwo: Card (SMX2000RMLV2UNC) NEMA 5-20R 70UT WITH		1.00	EA	2434.52	2434.52	11/13/2025
					Schedule Total	2434.52	



Page: 4 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00025759	11-03-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	•
	Gabriel.	
	Morales@untsystem.ed	du

Supplier: 0000003228 World Wide Technology LLC 60 Weldon Pkwy St Louis MO 63043 United States Ship To: This is not a valid Purchase Order.
This document is reproduced for reporting purposes only.

Attention: Chad Joyce

Bill To: UNT System Business
Service Center
Send Invoices to:
invoices@untsystem.edu
1112 Dallas Dr., Ste.

4200 Denton TX 76205 United States

Tax Exer Line- Sch	npt? Item/Description	Tax Exempt ID: Mfg ID	Quantity	UON		Option: Standard Extended Amt	Due Date
13 - 1	Service Pack 3 Year Warranty Extension (for new product purchases) FOR NEW PRODUCT PURCHASES		1.00	EA	294.34	294.34	11/13/2025
					Schedule Total	294.34	
14 - 1	Device monitoring an management, Network Management Cards, NMC3 with Environmental Monitoring, secure remote UPS monitorin and management NTWK SHUTDOWN ENVT MONITORING		1.00	EA	473.73	473.73	11/13/2025
					Schedule Total	473.73	
15 - 1	APC 2-Post Mounting Kit SMART-UPS SYMMETRA		1.00	EA	217.37	217.37	11/13/2025
					Schedule Total	217.37	
16 - 1	APC Temperature Sensor		1.00	EA	76.61	76.61	11/13/2025
					Schedule Total	76.61	
17 - 1	SMF SFP+ 1310NM 10KI 10GBASE-LR LC JUNIPI		3.00	EA	84.00	252.00	11/13/2025



Page: 5 of 5

University of North Texas

UNT System Business Service Center Denton TX 76205 United States

DUPLICATE		Dispatch Via Print
Purchase Order	Date	Revision
NT752-NT00025759	11-03-2025	
Payment Terms	Freight Terms	Ship Via
30 days	Dest, prepay & add	GROUND
Buyer	Phone/ Email	Currency
Morales, Gabriel Adrian	940/369-5500	_
	Gabriel.	
	Morales@untsystem.ed	du

Supplier: 0000003228 World Wide Technology LLC 60 Weldon Pkwy St Louis MO 63043 United States This is not a valid Purchase Order. This document is reproduced for reporting purposes only.

Ship To:

Attention: Chad Joyce

Bill To: UNT System Business Service Center Send Invoices to: invoices@untsystem.edu 1112 Dallas Dr., Ste.

4200

Denton TX 76205 United States

Tax Exen Line- Sch	Item/Description	Tax Exempt ID: Mfg ID	Quantity	UO		Option: Standard Extended Amt	Due Date
	COMPATIBLE APP TESTE	ED			Schedule Total	252.00	
18 - 1	ENET 3M ST/LC Duples Single-mode 9/125 OS or Better Yellow Fiber Patch Cable 3 meter ST-LC Individually Tested DUPLEX CABLE		4.00	EA	15.59	62.36	11/13/2025
					Schedule Total	62.36	
19 - 1	HPE AP-635 Tri Band IEEE 802.11 a/b/g/n/ac/ax 3.90 Gbit/s Wireless Access Point - Indoo PL-VL	or	5.00	EA	859.32	4296.60	11/13/2025
					Schedule Total	4296.60	
20 - 1	HPE AP-MNT-B Mountin Bracket for Wireless Access Point INDIVIDUAL B PL-VL		5.00	EA	23.48	117.40	11/13/2025
					Schedule Total	117.40	
					Total PO Amount	21982.34	